@

Wl (- ) e e e

(Pan - A) Choose and write the correct option:

{1)

T marh

(@ HeTeE

o
. "
@) e @ TEwH

What is endosulfan?

(g} Onl (b} Pesticides

=l T = —
H Ok [- = A6

Which of th Ving t a clas 5 he
Dasi
{ ed
| Black -]
s O HJHiHF SIEEAREGIE A IR ETE 2

In India, paddy can be mostly cultivated
Only in Kharif  (b) Only in Rab

L)

{c) Onlyin Zaid {d) In all Seasons

K-24

41300-A
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v) Mgz femarenis s mm
) @)
) TE a9

11
Cold War took place between which two countries?
(2) China and America
{(b) America and Russia

() =5 Ts 9T =

(c) Russiaand China
(d) Russia and Germany
-1 (@vs- ) e S it [ 1x5=5]

(Part - B) Fill in the blanks

i1l ARV CE AR C T n

The signal for measunng growth rate 15

| freiv s i i e e
The announcementof  brought relief to the
people in the economic recession

(iii) @ @ gEas I ey o o e

Copper is used maximumin _

- PT.O.
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A ' [1x5=5]

(i) Py @) 5z e
Gv) A (@) g+
(v) vty yurg (®) T i
(Part — C) Match the following;
(A) (B)

(i) Medium of exchange (a) In Lok Sabha

ag

(iii) Uranium (c) Currency
(iv) Mental development  (d) Development of

Information technology
(v) Effect of Globalization (e) Atomic mineral

L1 1L T
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Instruction (B) : Question No. 2 10 6 are very < M
mm&:hqmnmzmw |
word-limit of answer is 30 words)

-2 ol vk i "

What is “waste material'?

W3 IS 31 e e ¥ fafiag [1+1=2
Write the names of any two Zaid Crops.
W4 2 aifeas afet & aw fafag [14+1=]

Write the names of two metallic minerals

WS FERFWERARAFE A S FA A (=]

What are the functions of the povernment that are

directly related 1o reducing poverty?
96 AR TS R I

What is buffer stock”?

K-24130d-A
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(&)

————

Rl e 7 R 10 v e sede v d) vdls
W W 3 3w awttn B cowe 6 afves weeodlar S0
= b

instruction (C) © Question No. 7 w0 10 are very shont

answer hvpe queshons. BEach question camies 3 marks

(Maxamum word-Iimit of angwer 18 50 wonds)

TE-7 S e R et el v R asmen A g 241

What 15 population? IT there are more vouth in the
Populanon of a country, then what will be the economic

system of the country?

.,

T ST T S ey P e e
g¥3-3 IHHSGIE T v MG [T IqES9T o7 |2+1=1}

What is colomalism? Whose colony was lndia?

T¥H-9 m;'ﬁué-??f%'i'f?‘t!-‘-l'-?-i--_!'_-i@‘-‘n‘:'ia'-'.-"i'fi1:.~I1'1.-1ﬂ_'|.,-}:T§J':H"l [ 1+1+1

: i =7
Write about the temible damage caused by an atomic A
bomb. (anv three)
UH-10 SO FYHET TNy SH FArET 13]

How do multinational companies make profits?
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oa-11

aA-12

ﬁhmrmmuiuw‘ﬂ}mmt* e
w i v fe §) el W 4 S s by

(were Y saferererst s el 75 e by

Instruction (1) | Question No_ 11 1o 14 are short answer

fype questions. Each question has internal option. Fach

(uestion carries 4 marks  (Mmamum  word-limit of
mnswoer 18 75 words)

wplelian @& s fefem [14+14+1+
1=4|

Wrile four characteristics of fascism?

HerAar

OR
et Fervarpez & =nr anoit 1 Zedim &4
Mention four reasons for World War 11
WY ST SR T3 B ART-T HR T YT K7 [I+1+1+
What were the positive effects of the formation of 1=4|
langunge based states?

HeaT

OR

3 fo=g e farer wifter ff 91 ot i st )
feafer o v gzan

If Hindu Code Bill (Law) would have not passed, what
elfect would have been on women of India?

(-241300-A
FOR ALL PAPER
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(8]
W13 o sl siftfis 2013 W v wfE (@ |l_+-|:ﬁ
Throw light on land acquisition act 2013 (any four) l"ﬂ
HHET
OR
3 ]
he difference between renewable resources and
ara-14 1 [14+1+1
Wriie a I rif | 1=4]
Len
eI
OR
1914 o | ITAT Bl T Fu-
g 70 (#¥

I'he war that started in 1914 AD is called World War
Confirm this statementi (any our points)

K-241300-A
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¥ . EI-'IEL' Lad [
ang

fdwr g =

I (%) mea?rﬁwﬁm’-mﬂa e B 0ol 9o
N Hifes e = 2% g

: | 1 T—r..‘q iLl T"‘-’.ia-_. U7 L 6 I mj—eﬁ -?F [_STH ﬂ
150 ¥raz 3

INstruction (g ) : Questign No, |7
t¥Pe questione Eac ‘
l.]{jl:hr;'l: i cam

nswer jg |

1 question has
€5 6 marks
50 Words)

Internal option. Each
Baximym word-limit of

331?4 7 Faeem

:.1,_ He ” L= I ! [ 55
= LI JJJ"l;_”-:""'
1 . rJ:‘_\-" = id [.Il 1“\.":“1 '-:”Hi!‘_':l;:'_‘. M Imass |]||..‘-‘"IE:

oy
OR
pug o T T
7iE T e -5 = i
5 I ELAT, & Hiwoy 3 Y T G777 3t -
o P HHHET 3 3

ll-]I.'lf"' = R
Gl similarities ang d.'r'ifi;.-'c!h:-c:.' do you se
Print media and 7 1 o 0 JOu see betweep
oLV oo 4]

Unication?

ions |jke inferest rale,
Cssential for loan?
and 18 are long answar
|3+3=ﬁ|
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(9)

uF-15

Fdn (5) . e i 15w 16 I e ) e aw
# it frmea #) wees gya o 5 3t sl b @
Fiftrme e 100 3152 )

Instruction (E) ; Question Mo, 15 and 16 are long answar
type questions. Each question has internal option. Each
question carries 5 marks, (Maximum word-limit of
answer is 100 words)

g STare 1 i fadreTd ferfan) (@18 9r) (141414
] : = - 1+1=5]
Write the main features of social movemnent. (any [ive)

eET
OR
Fr-grefiaau St STETEFaT T 87

Why was disarmament needed?

7fe vty ford 3% arftifeas ! o FrEwr st @&, v (141
UA HRE SYEEET 9T F41 T91E TR

If the Reserve Bank of India does not eontral
commercial banks what will be the impact on th
currency and credit system?

T

OR

CE KA MAHAKUMBH
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y an ]
18 et et 3 it v it ¥ o e e b
TR A 2t S vy e e - i a
g s i

In Indian democracy the Prime Minister work like an
axis. He should not be autocratic and become dictator,
for this which methods are precised?

e

OR
v 3 Tregafer o it a ar Aoy w if faaae shfer
(1% TE)

Briefly discuss the powers and functions of the President
of India. (any six)

et i i oy A el R i
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